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AL Af=h -b EEE - 1K 2A&XH & 7 V—x
No No K4 B 4 15 L 155 I i N AV
1 20 HIL B 38.11 38.90 1:17.01 0.00
2 31 E 39.10 40.84 1:19.94 33.10
3 27 AR 5= 42 .59 4341 1:26.00 101.56
4 28 ERE o9 42 .66 4432 1:26.98 112.63
5 19 I B3 (Visitc 43.17 43.87 1:27.04 113.31
6 26 M (Visitor) 44.66 4520 1:29.86 14517
729 BP0 fE=E 45.01 4499 1:30.00 146.75
8 21 e E1R 45.86 46.88 1:32.74 177.71
9 24 (W = 47.27 48.53 1:35.80 212.28
10 30 & =] 48.79 49.52 1:38.31 240.63
11 32 HE WH 49.77 49.02 1:38.79 246.05
12 17 fHE  Stgh (Visi 53.88 47.08 1:40.96 270.57
13 23 g TE (Visi 51.13 50.30 1:41.43 275.88
14 18 wh Bk (Visi 50.94 52.70 1:43.64 300.85
15 25 Wi (Visitc 1:00.26 57.87 1:58.13 464.54

DID NOT START [1st RUN] 0

DID NOT FINISH [1st RUN] 0

DISQUALIFIED [1st RUN] 1

22 T mA (Visi GATE No. 8

DID NOT START [2nd RUN] 0

DID NOT FINISH [2nd RUN] 0

DISQUALIFIED [2nd RUN] 0
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DATA PROCESSING by SE I KO

TIMING by SETI KO



